
 

 

A. Choose the Correct Answer: 

1. What is 12 × 6? 

 a) 72    b) 66   

 c) 68    d) 76 

2. Which number is the result of 14 × 5? 

 a) 65    b) 70   

 c) 75    d) 60 

3. 17 × 4 equals: 

 a) 68    b) 64   

 c) 74    d) 76 

4. 19 × 3 is: 

 a) 59    b) 58   

 c) 57    d) 60 

5. What is the value of 20 × 8? 

 a) 160    b) 180   

 c) 150    d) 140 

B. Write the Missing Terms to Complete the Sentences: 

1. 11 × 9 = ______ 

2. 13 × 7 = ______ 

3. 15 × 5 = ______ 

4. 18 × 6 = ______ 

5. 16 × 10 = ______ 

C. Mark each sentence with a True (✔) or False (✘): 

1. 12 multiplied by 12 is 144   ______ 

2. 17 × 2 equals 36   ______ 

3. 20 × 0 is 0    ______ 
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4. 19 × 5 is more than 90  ______ 

5. 14 × 4 equals 56   ______ 

D. Figure out the answers to these questions: 

1. Write the multiplication table of 13 

2. Find the product of the greatest 2-digit number with 11 

3. A pencil costs ₹15 What will be the cost of 9 pencils 

4. Using the table of 16 find the product of 16 × 7 

5. Fill in the missing number 12 × ___ = 108 

E. Challenge yourself with these questions: 

1. Rina reads 14 pages every day How many pages does she read in 6 days 

2. Fill the blanks using table of 17 

 17 × 4 = ___ 17 × 5 = ___ 17 × 6 = ___ 

3. A watermelon costs ₹18 Find the total cost of 7 watermelons 

4. Create two word problems using the table of 19 

5. Match the following 
a) 11 × 8   i) 132 

b) 12 × 11   ii) 88 

c) 15 × 9   iii) 135 

d) 13 × 10   iv) 120 

e) 16 × 7   v) 130 

  


